Old Style: ADOBE GARAMOND 96/112

X-height: 58%
of height with
ascender

3p wide

3p9 high]ﬁ Ratio of width to height: 1 to 1.18

Transitional: NEW CENTURY SCHOOLBOOK 96/112

1l

]ﬂ Ratio of width to height: 1 to 1.15

X-height: 66%
of height with
ascender

3p5 wide
3p11 high

Modern: BODONI 96/112

1l

]ﬂ Ratio of width to height: 1 to 1.25

X-height: 65%
of height with
ascender

3p wide
3p9 high

1996: MERCURY 96/112

V@ﬂnesday

X-height: 68%
of height with
ascender

Ratlo of width to height: 1 to 1.2



